

Provided for non-commercial research and educational use.
Not for reproduction, distribution or commercial use.

Mathematica Balkanica

Mathematical Society of South-Eastern Europe
A quarterly published by
the Bulgarian Academy of Sciences – National Committee for Mathematics

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal
<http://www.mathbalkanica.info>

or contact:

Mathematica Balkanica - Editorial Office;
Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria
Phone: +359-2-979-6311, Fax: +359-2-870-7273,
E-mail: balmat@bas.bg

On a Two Variables Analogue of Bessel Polynomials

Mumtaz Ahmad Khan and Khursheed Ahmad*

Presented by V. Kiryakova

The present paper deals with a study of a two variables analogue of Bessel polynomials. Certain integral representations, a Schlöfli's contour integral, a fractional integral, Laplace transformations, some generating functions and double generating functions have been obtained.

AMS Subj. Classification: 33C50, 33C10, 26A30, 4410

Key Words: two variable Bessel polynomials, fractional integrals, Laplace transformations

1. Introduction

In 1949 Krall and Frink [11] initiated a study of what they called Bessel polynomials. In their terminology the simple Bessel polynomial is

$$(1.1) \quad Y_n(x) = {}_2F_0[-n, 1+n; -; -\frac{x}{2}],$$

and the generalized one is

$$(1.2) \quad Y_n(a, b, x) = {}_2F_0[-n, a-1+n; -; -\frac{x}{b}].$$

These polynomials were introduced by them in connection with the solution of the wave equation in spherical coordinates. They are the polynomial solutions of the differential equation

$$(1.3) \quad x^2 y''(x) + (ax + b)y'(x) = n(n + a - 1)y(x),$$

where n is a positive integer and a and b are arbitrary parameters. These polynomials are orthogonal on the unit circle with respect to the weight function

$$(1.4) \quad \rho(x, \alpha) = \frac{1}{2\pi i} \sum_{n=0}^{\infty} \frac{\Gamma(\alpha)}{\Gamma(\alpha + n - 1)} \left(-\frac{2}{x}\right)^n.$$

Several authors including Agarwal [1], Al-Salam [2], Brafman [3], Burch-nall [4], Carlitz [5], Chatterjea [6], Dickinson [7], Eweida [9], Grosswald [10], Rainville [14], and Toscano [18] have contributed to the study of the Bessel polynomials.

The aim of the present paper is to introduce a two variables analogue $Y_n^{(\alpha, \beta)}(x, y)$ of the Bessel polynomials $Y_n^{(\alpha)}(x)$ defined by

$$(1.5) \quad Y_n^{(\alpha)}(x) = {}_2F_0[-n, \alpha + n + 1; -; -\frac{x}{2}]$$

and to obtain certain results involving the two variable Bessel polynomial

$$Y_n^{(\alpha, \beta)}(x, y).$$

2. The polynomial $Y_n^{(\alpha, \beta)}(x, y)$

The Bessel polynomial of two variables $Y_n^{(\alpha, \beta)}(x, y)$ is defined as follows:

$$(2.1) \quad Y_n^{(\alpha, \beta)}(x, y) = \sum_{n=0}^n \sum_{s=0}^{n-r} \frac{(-n)_{r+s} (\alpha + n + 1)_s (\beta + n + 1)_r}{r! s!} \left(-\frac{x}{2}\right)^s \left(-\frac{y}{2}\right)^r.$$

For $y = 0$, (2.1) reduces to the Bessel polynomial $Y_n^{(\alpha)}(x)$.

$$(2.2) \quad Y_n^{(\alpha, \beta)}(x, 0) = Y_n^{(\alpha)}(x).$$

where $Y_n^{(\alpha)}(x)$ is defined by (1.5).

Similarly,

$$(2.3) \quad Y_n^{(\alpha, \beta)}(0, y) = Y_n^{(\beta)}(y).$$

Also, for $\alpha = -n - 1$, we have

$$(2.4) \quad Y_n^{(-n-1, \beta)}(x, y) = Y_n^{(\beta)}(y).$$

Similarly,

$$(2.5) \quad Y_n^{(\alpha, -n-1)}(x, y) = Y_n^{(\alpha)}(x).$$

3. Integral representations

It is easy to show that the polynomial $Y_n^{(\alpha, \beta)}(x, y)$ has the following integral representations:

$$\frac{1}{\Gamma(\alpha + n + 1)\Gamma(\beta + n + 1)} \int_0^\infty \int_0^\infty u^{\alpha+n} v^{\beta+n} \left(1 + \frac{xu}{2} + \frac{yv}{2}\right)^n e^{-u-v} dudv$$

(3.1) $\qquad\qquad\qquad = Y_n^{(\alpha, \beta)}(x, y).$

For $y = 0$, (3.1) reduces to

$$(3.2) \qquad Y_n^{(\alpha)}(x) = \frac{1}{\Gamma(\alpha + n + 1)} \int_0^\infty u^{\alpha+n} \left(1 + \frac{xu}{2}\right)^n e^{-u} du.$$

For $y = 0$, $\alpha = a - 2$ and x replaced by $\frac{2x}{b}$, (3.1) becomes

$$(3.3) \qquad Y_n(a, b, x) = \frac{1}{\Gamma(a - 1 + n)} \int_0^\infty t^{a-2+n} \left(1 + \frac{xt}{b}\right)^n e^{-t} dt$$

a result due to Agarwal [1].

$$\int_0^t \int_0^s x^\alpha (s-x)^{n-1} y^\beta (t-y)^{n-1} Y_n^{(\alpha, \beta)}(x, y) dx dy$$

(3.4) $\qquad\qquad\qquad = \frac{s^{\alpha+n} t^{\beta+n} \{\Gamma(n)\}^2}{(\alpha+1)_n (\beta+1)_n} Y_n^{(\alpha-n, \beta-n)}(x, t),$

$$\int_0^1 \int_0^1 u^{\gamma-1} (1-u)^{\delta-1} v^{\lambda-1} (1-v)^{\mu-1} Y_n^{(\alpha, \beta)}(xu, yv) dudv =$$

(3.5) $\frac{\Gamma(\gamma)\Gamma(\delta)\Gamma(\lambda)\Gamma(\mu)}{\Gamma(\gamma+\delta)\Gamma(\lambda+\mu)} F_{-1;1}^{1;2;2} \left[\begin{matrix} -n; & \alpha+n+1, & \gamma; & \beta+n+1, & \lambda; & -\frac{x}{2}, & -\frac{y}{2} \\ -: & \gamma+\delta; & \lambda+\mu; & & & & \end{matrix} \right],$

$$\int_0^1 \int_0^1 u^{\gamma-1} (1-u)^{\delta-1} v^{\lambda-1} (1-v)^{\mu-1} Y_n^{(\alpha, \beta)}(x(1-u), yv) dudv =$$

(3.6) $\frac{\Gamma(\gamma)\Gamma(\delta)\Gamma(\lambda)\Gamma(\mu)}{\Gamma(\gamma+\delta)\Gamma(\lambda+\mu)} F_{-1;1}^{1;2;2} \left[\begin{matrix} -n; & \alpha+n+1, & \delta; & \beta+n+1, & \lambda; & -\frac{x}{2}, & -\frac{y}{2} \\ -: & \gamma+\delta; & \lambda+\mu; & & & & \end{matrix} \right],$

$$\int_0^1 \int_0^1 u^{\gamma-1} (1-u)^{\delta-1} v^{\lambda-1} (1-v)^{\mu-1} Y_n^{(\alpha, \beta)}(xu, y(1-v)) dudv =$$

$$(3.7) \quad \frac{\Gamma(\gamma)\Gamma(\delta)\Gamma(\lambda)\Gamma(\mu)}{\Gamma(\gamma+\delta)\Gamma(\lambda+\mu)} F_{-1:1;1}^{1:2;2} \left[\begin{matrix} -n; & \alpha+n+1, & \gamma; & \beta+n+1, & \mu; & -\frac{x}{2}, -\frac{y}{2} \\ -: & & \gamma+\delta; & & \lambda+\mu; & \end{matrix} \right],$$

$$\int_0^1 \int_0^1 u^{\gamma-1} (1-u)^{\delta-1} v^{\lambda-1} (1-v)^{\mu-1} Y_n^{(\alpha, \beta)}(x(1-u), y(1-v)) dudv =$$

$$(3.8) \quad \frac{\Gamma(\gamma)\Gamma(\delta)\Gamma(\lambda)\Gamma(\mu)}{\Gamma(\gamma+\delta)\Gamma(\lambda+\mu)} F_{-1:1;1}^{1:2;2} \left[\begin{matrix} -n; & \alpha+n+1, & \delta; & \beta+n+1, & \lambda; & -\frac{x}{2}, -\frac{y}{2} \\ -: & & \gamma+\delta & & \lambda+\mu; & \end{matrix} \right],$$

Particular Cases:

Some interesting particular cases of the above results are as follows:

(i) Taking $\gamma = \alpha + 1$, $\lambda = \beta + 1$, $\delta = \mu = n$ in (3.5), we obtain

$$\int_0^1 \int_0^1 u^\alpha (1-u)^{n-1} v^\beta (1-v)^{n-1} Y_n^{(\alpha, \beta)}(xu, yv) dudv$$

$$(3.9) \quad = \frac{\{\Gamma(n)\}^2}{(\alpha+1)_n (\beta+1)_n} Y_n^{(\alpha-n, \beta-n)}(x, y)$$

which is equivalent to (3.4).

(ii) Taking $\gamma = n + 1$, $\delta = \alpha$, $\lambda = n + 1$, $\mu = \beta$ in (3.5), we get

$$\int_0^1 \int_0^1 u^n (1-u)^{\alpha-1} v^n (1-v)^{\beta-1} Y_n^{(\alpha, \beta)}(xu, yv) dudv$$

$$(3.10) \quad = \frac{(n!)^2}{(\alpha)_{n+1} (\beta)_{n+1}} Y_n^{(0,0)}(x, y).$$

(iii) Replacing γ by $\alpha - \gamma + n + 1$, λ by $\beta - \lambda + n + 1$ and putting $\delta = \gamma$ and $\mu = \lambda$ in (3.5), we get

$$\int_0^1 \int_0^1 u^{\alpha-\gamma+n} (1-u)^{\gamma-1} v^{\beta-\lambda+n} (1-v)^{\lambda-1} Y_n^{(\alpha, \beta)}(xu, yv) dudv$$

$$(3.11) \quad = \frac{\Gamma(\alpha-\gamma+n+1)\Gamma(\gamma)\Gamma(\beta-\lambda+n+1)\Gamma(\lambda)}{\Gamma(\alpha+n+1)\Gamma(\beta+n+1)} Y_n^{(\alpha-\gamma, \beta-\lambda)}(x, y).$$

Similar particular cases hold for (3.6), (3.7) and (3.8) also.

Also, using the integral (see Erdélyi et al. [8], vol I, p.14),

$$(3.12) \quad 2i \sin \pi z \Gamma(z) = - \int_{\infty}^{(0+)} (-t)^{z-1} e^{-t} dt$$

and the fact that

$$(3.13) \quad (1-x-y)^n = \sum_{r=0}^n \sum_{s=0}^{n-r} \frac{(-n)_{r+s} y^r x^s}{r! s!},$$

we can easily derive the following integral representations for $Y_n^{(\alpha, \beta)}(x, y)$:

$$(3.14) \quad - \int_{\infty}^{(0+)} \int_{\infty}^{(0+)} (-u)^{\alpha+n} (-v)^{\beta+n} e^{-u-v} \left(1 + \frac{xu}{2} + \frac{yv}{2}\right)^n dudv$$

$$= 4 \sin \pi \alpha \sin \pi \beta \Gamma(\alpha+n+1) \Gamma(\beta+n+1) Y_n^{(\alpha, \beta)}(x, y),$$

$$\frac{\sin \pi \alpha \sin \pi \beta \Gamma(1+\alpha+n) \Gamma(1+\beta+n)}{\pi^2} \int_0^{\infty} \int_0^{\infty} u^{-\alpha-n-1} v^{-\beta-n-1} e^{-u-v}$$

$$(3.15) \quad \times Y_n^{(\alpha, \beta)}\left(\frac{2x}{u}, \frac{2y}{v}\right) dudv = (1-x-y)^n.$$

4. Schlafli's contour integral

It is easy to show that

$$(4.1) \quad \int_{-\infty}^{(0+)} \int_{-\infty}^{(0+)} u^{\alpha+n} v^{\beta+n} e^{u+v} \left(1 - \frac{xu}{2} - \frac{yv}{2}\right)^n dudv$$

$$= -4 \sin \pi \alpha \sin \pi \beta \Gamma(1+\alpha+n) \Gamma(1+\beta+n) Y_n^{(\alpha, \beta)}(x, y).$$

Proof of (4.1): We have

$$\frac{1}{(2\pi i)^2} \int_{-\infty}^{(0+)} \int_{-\infty}^{(0+)} u^{\alpha+n} v^{\beta+n} e^{u+v} \left(1 - \frac{xu}{2} - \frac{yv}{2}\right)^n dudv$$

$$= \sum_{r=0}^n \sum_{s=0}^{n-r} \frac{(-n)_{r+s} \left(\frac{x}{2}\right)^s \left(\frac{y}{2}\right)^r}{r! s!} \frac{1}{(2\pi i)^2} \int_{-\infty}^{(0+)} \int_{-\infty}^{(0+)} u^{\alpha+n+s} v^{\beta+n+r} e^{u+v} dudv$$

$$= \sum_{r=0}^n \sum_{s=0}^{n-r} \frac{(-n)_{r+s} \left(\frac{x}{2}\right)^s \left(\frac{y}{2}\right)^2}{r! s! \Gamma(-\alpha - n - s) \Gamma(-\beta - n - r)},$$

using Hankel's formula (see A. Erdélyi et al. [8], 1.6 (2))

$$(4.2) \quad \frac{1}{\Gamma(z)} = \frac{1}{2\pi i} \int_{-\infty}^{(0+)} e^{zt-z^2} dt.$$

Finally, (4.1) follows from (2.1) after using the result

$$(4.3) \quad \Gamma(z)\Gamma(1-z) = \pi \operatorname{cosec}\pi z.$$

5. Fractional integrals

Let L denote the linear space of (equivalent classes of) complex-valued functions $f(x)$ which are Lebesgue-integrable on $[0, \alpha]$, $\alpha < \infty$. For $f(x) \in L$ and complex number μ with $\Re\mu > 0$, the Riemann-Liouville fractional integral of order μ is defined as (see Prabhakar [12], p.72)

$$(5.1) \quad I^\mu f(x) = \frac{1}{\Gamma(\mu)} \int_0^x (x-t)^{\mu-1} f(t) dt \quad \text{for almost all } x \in [0, \alpha]$$

Using the operator I^μ , Prabhakar [13] obtained the following result for $\Re\mu > 0$ and $\Re\alpha > -1$:

$$(5.2) \quad I^\mu [x^\alpha Z_n^\alpha(x; k)] = \frac{\Gamma(kn + \alpha + 1)}{\Gamma(kn + \alpha + \mu + 1)} x^{\alpha+\mu} Z_n^{\alpha+\mu}(x; k),$$

where $Z_n^\alpha(x; k)$ is Konhauser's biorthogonal polynomial.

In an attempt to obtain a result analogous to (5.2) for the polynomial $Y_n^{(\alpha, \beta)}(x, y)$ we first seek a two variable analogue of (5.1).

A two variable analogue of I^μ may be defined as

$$(5.3) \quad I^{\lambda, \mu} [f(x, y)] = \frac{1}{\Gamma(\lambda)\Gamma(\mu)} \int_0^x \int_0^y (x-u)^{\lambda-1} (y-v)^{\mu-1} f(u, v) du dv.$$

Putting $f(x, y) = x^{\alpha+n-\lambda} y^{\beta+n-\mu} Y_n^{(\alpha, \beta)}(x, y)$ in (5.3), we obtain

$$\begin{aligned} & I^{\lambda, \mu} [x^{\alpha+n-\lambda} y^{\beta+n-\mu} Y_n^{(\alpha, \beta)}(x, y)] \\ &= \frac{1}{\Gamma(\lambda)\Gamma(\mu)} \int_0^x \int_0^y (x-u)^{\lambda-1} (y-v)^{\mu-1} u^{\alpha+n-\lambda} v^{\beta+n-\mu} Y_n^{(\alpha, \beta)}(u, v) du dv \end{aligned}$$

$$= \frac{x^{\alpha+n}y^{\beta+n}}{\Gamma(\lambda)\Gamma(\mu)} \int_0^1 \int_0^1 (1-t)^{\lambda-1}(1-\omega)^{\mu-1}t^{\alpha+n-\lambda}\omega^{\beta+n-\mu}Y_n^{(\alpha,\beta)}(xt, y\omega)dt d\omega$$

(by putting $u = xt$ and $v = y\omega$)

$$= x^{\alpha+n}y^{\beta+n} \sum_{r=0}^n \sum_{s=0}^{n-r} \frac{(-n)_{r+s}\Gamma(\alpha-\lambda+n+1+s)\Gamma(\beta-\mu+n+1+r)}{r! s!\Gamma(1+\alpha+n)\Gamma(1+\beta+n)} \times \left(-\frac{x}{2}\right)^s \left(-\frac{y}{2}\right)^r.$$

We thus arrive at

$$(5.4) \quad I^{\lambda,\mu}[x^{\alpha+n-\lambda}y^{\beta+n-\mu}Y_n^{(\alpha,\beta)}(x, y)] = \frac{x^{\alpha+n}y^{\beta+n}\Gamma(\alpha-\lambda+n+1)\Gamma(\beta-\mu+n+1)}{\Gamma(\alpha+n+1)\Gamma(\beta+n+1)}Y_n^{(\alpha-\lambda,\beta-\mu)}(x, y).$$

6. Laplace transform

In the usual notation the Laplace transform is given by

$$(6.1) \quad L\{f(t) : s\} = \int_0^\infty e^{-st}f(t)dt, \quad \Re(s-a) > 0,$$

where $f \in L(0, R)$ for every $R > 0$ and $f(t) = O(e^{st})$, $t \rightarrow \infty$.

Using (6.1) Srivastava [16] proved

$$(6.2) \quad L\{t^\beta Z_n^\alpha(xt; k) : s\} = \frac{(\alpha+1)_{kn}\Gamma(\beta+1)}{s^{\beta+1}n!} {}_{k+1}F_k \left[-n, \Delta(k, \beta+1); \left(\frac{x}{s}\right)^s, \Delta(k, \alpha+1) \right],$$

provided that $\Re(s) > 0$ and $\Re(\beta) > -1$.

In an attempt to obtain a result analogous to (6.2) for $Y_n^{(\alpha,\beta)}(x, y)$ we take a two variable analogue of (6.1) as follows:

$$(6.3) \quad L\{f(u, v) : s_1, s_2\} = \int_0^\infty \int_0^\infty e^{-s_1u-s_2v}f(u, v)dudv.$$

Now, we have

$$L\{u^{-\alpha-n-1}v^{-\beta-n-1}Y_n^{(\alpha,\beta)}\left(\frac{2x}{us_1}, \frac{2y}{vs_2}\right) : s_1, s_2\}$$

$$(6.4) \quad = \frac{\pi^2 s_1^{\alpha+n} s_2^{\beta+n}}{\sin \pi \alpha \sin \pi \beta \Gamma(\alpha+n+1) \Gamma(\beta+n+1)} (1-x-y)^n.$$

Similarly, we obtain

$$(6.5) \quad L\{u^{\alpha+n} v^{\beta+n} (1 + \frac{xus_1}{2} + \frac{yvs_2}{2})^n : s_1, s_2\}$$

$$= \frac{\Gamma(\alpha+n+1) \Gamma(\beta+n+1)}{s_1^{\alpha+n+1} s_2^{\beta+n+1}} Y_n^{(\alpha, \beta)}(x, y).$$

7. Generating functions

It is easy to derive the following generating functions for $Y_n^{(\alpha, \beta)}(x, y)$:

$$(7.1) \quad \sum_0^{\infty} \frac{t^n}{n!} Y_n^{(\alpha-n, \beta-n)}(x, y) = e^t (1 - \frac{xt}{2})^{-\alpha-1} (1 - \frac{yt}{2})^{-\beta-1},$$

$$(7.2) \quad \sum_0^{\infty} \frac{t^n}{n!} Y_n^{(\alpha, \beta-n)}(x, y)$$

$$= (1 - 2xt)^{-\frac{1}{2}} \left[\frac{2}{1 + \sqrt{1 - 2xt}} \right]^{\alpha} \left[1 - \frac{yt}{1 + \sqrt{1 - 2xt}} \right]^{-\beta-1} e^{\frac{2t}{1 + \sqrt{1 - 2xt}}},$$

$$(7.3) \quad \sum_0^{\infty} \frac{t^n}{n!} Y_n^{(\alpha-n, \beta)}(x, y)$$

$$= (1 - 2yt)^{-\frac{1}{2}} \left[1 - \frac{xt}{1 + \sqrt{1 - 2yt}} \right]^{-\alpha-1} \left[\frac{2}{1 + \sqrt{1 - 2yt}} \right]^{\beta} e^{\frac{2t}{1 + \sqrt{1 - 2yt}}},$$

$$(7.4) \quad \sum_0^{\infty} \frac{t^n}{n!} Y_n^{(\alpha-2n, \beta-n)}(x, y) = (1 + \frac{xt}{2})^{\alpha} \left[1 - \frac{yt}{2 + xt} \right]^{-\beta-1} e^{\frac{2t}{2 + xt}},$$

$$(7.5) \quad \sum_0^{\infty} \frac{t^n}{n!} Y_n^{(\alpha-n, \beta-2n)}(x, y) = \left[1 - \frac{xt}{2 + yt} \right]^{-\alpha-1} \left(1 + \frac{yt}{2} \right)^{\beta} e^{\frac{2t}{2 + yt}},$$

$$(7.6) \quad \sum_0^{\infty} (-\lambda)^k Y_n^{(\alpha, k-n)}(x, y) = \frac{1}{1+\lambda} Y_n^{(\alpha, -n)}\left(x, \frac{y}{1+\lambda}\right),$$

$$(7.7) \quad \sum_0^{\infty} (-\lambda)^k Y_n^{(k-n, \beta)}(x, y) = \frac{1}{1+\lambda} Y_n^{(-n, \beta)}\left(\frac{x}{1+\lambda}, y\right).$$

Using (3.1) we can also derive the following results:

$$(7.8) \quad \begin{aligned} & \sum_0^{\infty} \frac{(-\lambda)^k}{k!} Y_n^{(\alpha, k-n)}(x, y) \\ &= \frac{1}{\Gamma(\alpha + n + 1)} \int_0^{\infty} \int_0^{\infty} u^{\alpha+n} \left(1 + \frac{xu}{2} + \frac{yv}{2}\right)^n e^{-u-v} J_0(2\sqrt{\lambda v}) dudv, \\ & \sum_0^{\infty} \frac{(-\lambda)^k}{k!} Y_n^{(k-n, \beta)}(x, y) \end{aligned}$$

$$(7.9) \quad \begin{aligned} &= \frac{1}{\Gamma(\beta + n + 1)} \int_0^{\infty} \int_0^{\infty} v^{\beta+n} \left(1 + \frac{xu}{2} + \frac{yv}{2}\right)^n e^{-u-v} J_0(2\sqrt{\lambda u}) dudv, \\ & \sum_0^{\infty} (-1)^k \lambda^{2k} Y_n^{(\alpha, 2k-n)}(x, y) \end{aligned}$$

$$(7.10) \quad \begin{aligned} &= \frac{1}{\Gamma(\alpha + n + 1)} \int_0^{\infty} \int_0^{\infty} u^{\alpha+n} \left(1 + \frac{xu}{2} + \frac{yv}{2}\right)^n e^{-u-v} \cos \lambda v dudv, \\ & \sum_0^{\infty} (-1)^k \lambda^{2k} Y_n^{(2k-n, \beta)}(x, y) \end{aligned}$$

$$(7.11) \quad \begin{aligned} &= \frac{1}{\Gamma(\beta + n + 1)} \int_0^{\infty} \int_0^{\infty} v^{\beta+n} \left(1 + \frac{xu}{2} + \frac{yv}{2}\right)^n e^{-u-v} \cos \lambda u dudv, \\ & \sum_0^{\infty} (-1)^k \lambda^{2k+1} Y_n^{(\alpha, 2k+1-n)}(x, y) \end{aligned}$$

$$(7.12) \quad = \frac{1}{\Gamma(\alpha + n + 1)} \int_0^{\infty} \int_0^{\infty} u^{\alpha+n} \left(1 + \frac{xu}{2} + \frac{yv}{2}\right)^n e^{-u-v} \sin \lambda v dudv,$$

$$\begin{aligned}
 & \sum_0^{\infty} (-1)^k \lambda^{2k+1} Y_n^{(2k+1-n, \beta)}(x, y) \\
 (7.13) \quad & = \frac{1}{\Gamma(\beta + n + 1)} \int_0^{\infty} \int_0^{\infty} v^{\beta+n} \left(1 + \frac{xu}{2} + \frac{yv}{2}\right)^n e^{-u-v} \sin \lambda u d u d v.
 \end{aligned}$$

8. Double generating functions

The following double generating functions for $Y_n^{(\alpha, \beta)}(x, y)$ can easily be derived by using (3.1):

$$\begin{aligned}
 & \sum_{m=0}^{\infty} \sum_{k=0}^{\infty} (-\lambda)^m (-\mu)^k Y_n^{(m-n, k-n)}(x, y) \\
 (8.1) \quad & = \frac{1}{(1+\lambda)(1+\mu)} Y_n^{(-n, -n)}\left(\frac{x}{1+\lambda}, \frac{y}{1+\mu}\right),
 \end{aligned}$$

$$\begin{aligned}
 & \sum_{m=0}^{\infty} \sum_{k=0}^{\infty} \frac{(-\lambda)^m (-\mu)^k}{m! k!} Y_n^{(m-n, k-n)}(x, y) \\
 (8.2) \quad & = \int_0^{\infty} \int_0^{\infty} \left(1 + \frac{xu}{2} + \frac{yv}{2}\right)^n e^{-u-v} J_0(2\sqrt{\lambda u}) J_0(2\sqrt{\mu v}) d u d v,
 \end{aligned}$$

$$\begin{aligned}
 & \sum_{m=0}^{\infty} \sum_{k=0}^{\infty} (-1)^{m+k} \lambda^{2m} \mu^{2k} Y_n^{(2m-n, 2k-n)}(x, y) \\
 (8.3) \quad & = \int_0^{\infty} \int_0^{\infty} \left(1 + \frac{xu}{2} + \frac{yv}{2}\right)^n e^{-u-v} \cos \lambda u \cos \mu v d u d v,
 \end{aligned}$$

$$\begin{aligned}
 & \sum_{m=0}^{\infty} \sum_{k=0}^{\infty} (-1)^{m+k} \lambda^{2m+1} \mu^{2k} Y_n^{(2m+1-n, 2k-n)}(x, y) \\
 (8.4) \quad & = \int_0^{\infty} \int_0^{\infty} \left(1 + \frac{xu}{2} + \frac{yv}{2}\right)^n e^{-u-v} \sin \lambda u \cos \mu v d u d v, \\
 & \sum_{m=0}^{\infty} \sum_{k=0}^{\infty} (-1)^{m+k} \lambda^{2m} \mu^{2k+1} Y_n^{(2m-n, 2k+1-n)}(x, y)
 \end{aligned}$$

$$(8.5) \quad = \int_0^\infty \int_0^\infty \left(1 + \frac{xu}{2} + \frac{yv}{2}\right)^n e^{-u-v} \cos \lambda u \sin \mu v \, du \, dv,$$

$$\sum_{m=0}^\infty \sum_{k=0}^\infty (-1)^{m+k} \lambda^{2m+1} \mu^{2k+1} Y_n^{(2m+1-n, 2k+1-n)}(x, y)$$

$$(8.6) \quad = \int_0^\infty \int_0^\infty \left(1 + \frac{xu}{2} + \frac{yv}{2}\right)^n e^{-u-v} \sin \lambda u \sin \mu v \, du \, dv.$$

References

- [1] R. P. Agarwal, On Bessel polynomials, *Canadian Journal of Mathematics*, **6** (1954), 410-415.
- [2] W. A. Al-Salam, On Bessel polynomials, *Duke Math. J.*, **24** (1957), 529-545.
- [3] F. Braffman, A set of generating functions for Bessel polynomials, *Proc. Amer. Math. Soc.*, **4** (1953), 275-277.
- [4] J. L. Burchall, The Bessel polynomials, *Canadian Journal of Mathematics*, **3** (1951), 62-68.
- [5] L. Carlitz, On the Bessel polynomials. *Duke Math. Journal*, **24** (1957), 151-162.
- [6] S. K. Chatterjea, Some generating functions, *Duke Math. Journal*, **32** (1965), 563-564.
- [7] D. Dickinson, On Lommel and Bessel polynomials, *Proc. Amer. Math. Soc.*, **5** (1954), 946-956.
- [8] A. Erdélyi et al., *Higher Transcendental Functions*, I, McGraw Hill, New York (1953).
- [9] M. T. Eweida, On Bessel polynomials, *Math. Zeitschr.*, **74** (1960), 319-324.
- [10] E. Grosswald, On some algebraic properties of the Bessel polynomials, *Trans. Amer. Math. Soc.*, **71** (1951), 197-210.
- [11] H. L. Krall, O. Frink, A new class of orthogonal polynomials: the Bessel polynomials, *Trans. Amer. Math. Soc.*, **65** (1949), 100-115.
- [12] T. R. Prabhakar, Two singular integral equations involving confluent hypergeometric functions, *Proc. Camb. Phil. Soc.*, **66** (1969), 71-89.
- [13] T. R. Prabhakar, On a set of polynomials suggested by Laguerre polynomials, *Pacific Journal of Mathematics*, **40** (1972), 311-317.
- [14] E. D. Rainville, Generating functions for Bessel and related polynomials. *Canad. J. Maths.*, **5** (1953), 104-106.

- [15] E. D. R a i n v i l l e, *Special Functions*, MacMillan, New York, Reprinted by Cheelsea Publ. Co., Bronx - New York (1971).
- [16] H. M. S r i v a s t a v a, Some biorthogonal polynomials suggested by the Laguerre polynomials, *Pacific J. Maths.*, **98**, No 1 (1982), 235-249.
- [17] H. M. S r i v a s t a v a, H. L. M a n o c h a, *A Treatise on Generating Functions*, J. Willey & Sons (Halsted Press), New York; Ellis Horwood, Chichester (1984).
- [18] L. T o s c a n o, Osservazioni e complementi su particolari polinomi ipergeometrici, *Le Matematiche*, **10** (1955), 121-133.

Dept. of Mathematics
Faculty of Engineering
A. M. U., Aligarh - 202002, U. P.
INDIA

Received: 05.10.1997

** Address for correspondence:*
Prof. Mumtaz Ahmad Khan
A/B - 91, Medical Colony
Near Hadi Hasan Hall
A. M. U. , Aligarh - 202002, U.P.
INDIA